Solution of Maxwell's Equation by Kamal Transform

Yogesh khandelwal¹, Padama kumawat², Dheeraj singh

Department of Mathematics, Jaipur National University¹

Department of Mathematics, Maharshi Arvind University²

Corresponding Author: yogeshmaths81@gmail.com

Abstract- In this paper we have developed a new solution of maxwell's equations. There is electric and magnetic field. We are using kamal transformation for both fields of maxwell's equations describing TEMP waves traveling in conducting but lossy media is derived.

Keywords: Maxwell's Equation, Kamal transform.

1.INTRODUCTION

We apply Kamal transform to Maxwell's equations to determine the transient electric and magnetic field solution. Using the natural transform, Samudu transform Maxwell's equation were solved by R. solambarsn et al. [1]

Now we can take set A, the function is defined in the form

A={f: $|f(t)| < p^{t/\theta_j}$ if $t \in (-1)^j \ge [0 \infty), j=1,2; \varphi_j > 0$ }

Where $\varphi_1 \& \varphi_2$ may be finite or infinite and the constant p must be finite.

Then Kamal transform is defined as

K { f(t) } = G(v) =
$$\int_0^{\infty} f(t) e^{-t/v} dt$$
, t≥0, $\varphi_1 \le v \le \varphi_2$...(1)

Meanwhile, we can take advantage to certain properties of Kamal transform without any proof which will be useful to obtain the solution of Maxwell's equation.

The Kamal transform of function derivate f(t) w.r.t. "t", n times.

$$K[f^{n}(t)] = \frac{1}{\nu^{n}} G(\nu) - \sum_{k=0}^{n-1} \nu^{k-n+1} f^{k}(0) \qquad \dots (2)$$

For n=1,2 in Eq.(2) gives Kamal transform of First and second derivative of f(t) w.r.t. "t".

K { f'(t)} =
$$\frac{1}{v} G(v) \cdot f(0)$$
 ...(3)
K { f'(t)} = $\frac{1}{v^2} G(v) \cdot \frac{1}{v} f(0) \cdot f'(0)$...(4)

Let f(t) and g(t) are two functions then Kamal transform of convolution of two functions is given by

$$K(f^*g) = \frac{1}{n}k(f)k(g)$$
 ...(5)

The inverse of Kamal transform is related with Bromwich contour integral which is given by

$$K^{-1}[G(v)] = f(t) = \lim_{T \to \infty} \frac{1}{2\pi i} \int_{\alpha - iT}^{\alpha + iT} e^{t/v} f(t) dt \qquad \dots (6)$$

Next we apply the above properties to Maxwell's equation.

2.SOLUTION OF MAXWELL'S EQUATIONS

The electric field vector E and Magnetic field vector H are related by Maxwell's equations. The permeability μ and conductivity σ with constant permittivity ϵ in the planer transverse electromagnetic wave (TEMP) propagate in *x* direction in lossy medium. Then Maxwell's equations are given by

$$\nabla X E = -\mu \frac{\partial H}{\partial t} \qquad \dots (7)$$
$$\nabla X H = -\mu \frac{\partial E}{\partial t} + \sigma E \qquad \dots (8)$$

If the electric field vector is polarized along y direction then $E = E_y(x, t)$ and magnetic field along z direction $H = H_z(x, t)$ then Maxwell equation of Eq.(7) and (8) written as in differential equation form

$$\frac{\partial Ey}{\partial x} + \mu \frac{\partial HZ}{\partial t} = 0 \qquad \dots (9)$$

$$\frac{\partial HZ}{\partial x} + \epsilon \frac{\partial Ey}{\partial t} + \sigma Ey = 0 \qquad \dots (10)$$

Applying Kamal transform to the Eq.(9) and (10) and setting

$$K[E_{y}(x,t)] = F(x,v), K[H_{z}(x,t)] = G(x,v)$$

Where v are kamal transform variable w.r.t. "t" gives

$$K\left[\frac{\partial Ey}{\partial x}\right] + \mu K\left[\frac{\partial HZ}{\partial t}\right] = 0$$
$$\frac{\partial F(x,v)}{\partial x} + \mu \left[\frac{1}{v} G(x,v) - H(x,0)\right] = 0$$
$$\frac{\partial F(x,v)}{\partial x} + \left[\frac{\mu}{v} G(x,v) - \mu H(x,0)\right] = 0 \qquad \dots (11)$$

Now again from Eq.(10)

$$k\left[\frac{\partial Hz}{\partial x}\right] + \epsilon K\left[\frac{\partial Ey}{\partial t}\right] + \sigma k[Ey] = 0$$

After solving we get

$$\frac{\partial G(x,v)}{\partial x} + \frac{\epsilon}{v} F(x,v) - \epsilon E(x,0) + \sigma F(x,v) = 0 \qquad \dots (12)$$

Differentiating Eq.(11) partially w.r.t " x " gives

$$\frac{\partial^2 F(x,v)}{\partial x^2} + \frac{\mu}{v} \frac{\partial G(x,v)}{\partial x} = \mu \frac{\partial H(x,0)}{\partial x} \qquad \dots (13)$$

$$\frac{\partial^{2}F(x,v)}{\partial x^{2}} - F(x,v) \left[\frac{\mu\epsilon}{v^{2}} + \frac{\mu\sigma}{v}\right] = \left[\mu \frac{\partial H(x,t)}{\partial x}\right]_{t=0} - \frac{\mu\epsilon}{v} E(x,0) \qquad \dots (14)$$

Substituting Eq.(12) for $\frac{\partial G(x,v)}{\partial x}$, then simplifying and arranging

$$\frac{\partial^{2}F(x,v)}{\partial x^{2}} - F(x,v) \left[\frac{\mu\epsilon}{v^{2}} + \frac{\mu\sigma}{v}\right] = \left[-\epsilon \ \mu \frac{\partial E(x,t)}{\partial t}\right]_{t=0} + E(x,0)\left[\mu\sigma - \frac{\mu t}{v}\right] \qquad \dots (15)$$

Now consider the initial and boundary conditions

$$E_{\gamma}(\infty,t) = finite \qquad \dots (16)$$

$$E_y(x,0) = H_z(x,0) = 0$$
 ... (17)

$$\frac{\partial E_{y}(x,0)}{\partial x} = \frac{\partial H_{z}(x,0)}{\partial x} = 0 \qquad \dots (18)$$

$$\left[\frac{\partial \mathrm{Ey}(x,t)}{\partial x}\right]_{t=0} = \left[\frac{\partial \mathrm{Hz}(x,t)}{\partial x}\right]_{t=0} = 0 \qquad \dots (19)$$

$$E(0,t) = f(t) ; t \ge 0 \text{ and } t < 0 \qquad \dots (20)$$

Using the initial conditions Eq.(17) and Eq.(19). The RHS of Eq.(15) is zero. Then

$$\frac{d^2 F(x,v)}{dx^2} - \left[\frac{\mu\epsilon}{v^2} + \frac{\mu\sigma}{v}\right] F(x,v) = 0 \qquad \dots (21)$$

Now we are substituting $\alpha^2 = \frac{\mu\epsilon}{v^2} + \frac{\mu\sigma}{v}$ and the resulting homogenous differential equation solution is

$$F(x, v) = A(v) e^{-\alpha x} + B(v) e^{-\alpha x} ... (22)$$

Using the boundary condition Eq.(20) gives B(v) = 0 in Eq.(22),

$$A(v) = K\{f(t)\} = f(v) \qquad ...(23)$$

$$F(x,v) = f(v) e^{-\alpha x} \qquad \dots (24)$$

Now multiplying and dividing the RHS of Eq.(24) by parameter v then we get

$$F(x,v) = \frac{vf(v)e^{-\alpha x}}{v} \qquad \dots (25)$$

By the application of Eq.(3) and Eq.(6),

$$F(x,v) = vk[f'(t) + f(0)]k[\frac{1}{2\pi i}\int_{\alpha - i\infty}^{\alpha + i\infty} \frac{e^{t/v}e^{-\alpha x}}{v}dt] \qquad \dots (26)$$

Applying inverse kamal transformation on both sides of Eq.(26) and using the convolution theorem,

$$E(x,t) = \int_0^t [f(t-\Phi) + f(0)] \frac{1}{2\pi i} \int_{\alpha-i\infty}^{\alpha+i\infty} \frac{e^{t/\nu} e^{-\alpha x}}{\nu} dt \, d\Phi \qquad \dots (27)$$

which is the transient electric field E(x, t) of TEMP waves in lossy medium is given by

Similarly for magnetic field H(x, t) of TEMP waves in Lossy medium is given by

$$H(x,t) = \int_0^t \left[g'(t-\theta) + f(0)\right] \frac{1}{2\pi i} \int_{\alpha-i\infty}^{\alpha+i\infty} \frac{e^{t/\nu}e^{-\alpha x}}{\nu} dt d\theta \qquad \dots (28)$$

Conclusion

We have observed that magnetic field solutions are imaginary and electric field solution are real from their reduced homogeneous differential equations as was expected.

REFERENCES

1.Belgacem.F.B.M and R.silambarasan "Application of the natural transform to Maxwell's equation". Piers Proceeding ,suzhov china . sep 12-16-2011

2.Belgacem, F. B. M. and R. Silambarasan, \Theoretical investigations of the natural transform," In Pre-print, to Appear.

3.Belgacem, F. B. M. and A. A. Karaballi, \Sumudu transform fundamental properties, inves-

tigations and applications," *Journal of Applied Mathematics and Stochastic Analysis*, 1{23, 2006.

4.Belgacem, F. B. M., \Sumudu applications to Maxwell's equations," *PIERS Online*, Vol. 5, No. 4, 355-360, 2009.

5.Herbert Kreyszig, Edward J. Norminton, "Advanced Engineering Mathematics" Ohio State University Columbus, Ohio, Tenth edition, 2011. \

6. Joel L.Sciff, The Laplace Transform theory and Application, springer, 2010.

7. KimHwaJoon, The time shifting for Elzaki transform, International Journal of Pure and Applied Mathematics, 2013, Vol,87, No.2, 261-271..

8. Kamal and Mahgoub, "Bulletin mathematics and statistics research" Vol.5 Issue.4.2017(Oct-Dec),pp 11-16.